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QUESTION 1

Which of the following is a valid IP address for class B Networks?
A.212.136.45.8

B.172.157.88.3

C.80.33.5.7

D. 225.128.98.7

Correct Answer: B

QUESTION 2

Which of the following statutes is enacted in the U.S., which prohibits creditors from collecting data from applicants,
such as national origin, caste, religion etc?

A. The Equal Credit Opportunity Act (ECOA)
B. The Fair Credit Reporting Act (FCRA)

C. The Privacy Act

D. The Electronic Communications Privacy Act

Correct Answer: A

QUESTION 3

Which of the following tools combines the functionality of the traceroute and ping programs in a single network
diagnostic tool?

A. Conky
B. Mtr

C. Ntop
D. Cacti

Correct Answer: B
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QUESTION 4

Kerberos is a computer network authentication protocol that allows individuals communicating over a non-secure
network to prove their identity to one another in a secure manner. Which of the following statements are true about the
Kerberos authentication scheme?

Each correct answer represents a complete solution. Choose all that apply.

A. Kerberos requires continuous availability of a central server.

B. Kerberos builds on Asymmetric key cryptography and requires a trusted third party.

C. Dictionary and brute force attacks on the initial TGS response to a client may reveal the subject\\'spasswords.

D. Kerberos requires the clocks of the involved hosts to be synchronized.

Correct Answer: ACD

QUESTION 5

You work as a Network Administrator for Infonet Inc. The company\\'s office has a wireless network. Wireless access
point on the network works as a router and DHCP server. You want to configure a laptop to connect to the wireless
network. What will you configure on the laptop to accomplish the task?

A. Internet service provider\\'s DNS server address

B. I/O address

C. Service Set Identifier

D. Demilitarized zone

Correct Answer: C
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